Calc & Trig

Assignment

Verify each identity.

1) cos? xtan xsec x = sin x

2) csc xcos x = cot x

tan x

4) sec*x—1=
cot x

Name 1ID: 1

Date Period

sinx secx

3)
cos’x cotx

tanx sinx

5)
csCx cotx



6) sec’ x + cot? x = csc” x + tan” x

) COS X
7) sec xcot” x = ——
sin” x
cscx+1 .
8§ ———=1+sinx
cse x

-



COS X + S€C X

9) ————==1+cos’x
sec x
1-cosx
10) cscx-cotx =—""—
sin x
11) sec? xsin® x = sec? x — 1 1 cos® x

12) =
1+cot>’x cot’x



13) —cos® xcse?x=1-csc? x tan® x
) 14)T=1+tan2x
sin” x

2
cot™ x
15) — =csc’x—1
cos” xsec” x

2
cot” x
16) 5 = cos* x
CSC” x + sec” x

-



cot® x

17) =1+ cot® x

COS™ X

18) cos? x(l + cot? x) S

19) 1+cot2x=cotx

sec x sin x

sec xtan x



20) cot® xsec’ x = cot® x + 1



Calc & Trig Name

ID: 1

Assignment
Verify each identity.

1) cos® xtan xsec x = sin x

cos? xtan xsec x Decompose into sine and cosine

Date

, sinx 1 o
cos™ x - : Simplify
COSX COSX
sin x m
2) csc xcos x = cot x 3) sinx  secx
cos’x cotx
CSC XCOS X Use csc x = —
Sin X .
sin x
R Use cot x =
COS X oS x CoS” x
Use cot x = —
sin x sin x |
_ Use sec x =
cot xcos x
cot x ]
sec x
]
cot x
tan x tanx sinx
4) sec*x—1= 5) =
cot x csCx cotx
2 2 2
sec“x -1 Usetan® x + 1 = sec” x tan x
Use cot x =
CSC X
tan® x Use cot x =
tan x 1
_— Use csc x =
Ccsc xcot x
tan x
]
cot x sin x
]

cot x

COS X

sin x

COS X

tan x

S x

Period



6) sec’ x + cot? x = csc” x + tan” x

sec? x + cot® x Use tan” x + 1 = sec? x

tan” x + 1 + cot” x Use cot’> x + 1 = csc? x

csc2 x + tan” x |
CoS X
7) sec xcot® x = 5
sin” x
sec xcot® x Decompose into sine and cosine
2
1 COS X L.
_ Simplify
cos x \sinx
CoS X
]
sin? x
cscx+1 .
§) ———=1+sinx
csc X
cscx+1 ) ) )
_— Decompose into sine and cosine
CcSC X
1
- +1
sin x o
—_— Simplify
1
sin x
1+ sinx n

2-



COS X + S€C x
9) =T 1+ cos’x
SE€C X

COS X + Sec x ) ) )
—_— Decompose into sine and cosine

sec x
CoSs X +
COS X o
Simplify
1
cos X
1+ cos? x u
1-cosx
10) cscx—cotx=—"""
sin x
csC x —cot x Decompose into sine and cosine
1 CoS X o
—_— = — Simplify
sin x sin x
1-cosx
— [ |
sin x
11) sec? xsin® x = sec? x — 1 12) 1 cos® x 1
= 2
s 1+cot®x cot®x I+ cot”x
sec” xsin” x Use sec x =
COS X
1
. 2
Sll’l2 X sin x csC™ x
e Use tan x =
cos” x cos X
sin? x
tan® x Use tan® x + 1 = sec’ x
cos? xsin? x
2
sec’x-1 u Ccos” x
cos’ x
cot? x



13) —cos? xcsc® x =1 — csc? x tan® x

14) -5, = 1 + tan® x
5 5 Sin~ x
—cos“ xcsc”x  Usecscx=— 2 .
Sin x tan” x sin x
e Use tan x =
sin? x coS X
cos? x CoS x
B Use cot x = —
SsIn” x Sin x Sinz X
S, Cancel common factors
SIn~ XCOS™ X
—cot? x Use cot® x + 1 = csc? x
! U
2 —_— se sec x =
1-csc™x u cos? x coS X
sec’ x Use tan” x + 1 = sec? x
1+ tan® x |
2
cot” x
15) 5 S = csc?x -1
COS™ Xs€C™ x
cot? x
S 5 Use sec x =
Cos” xsec” x cos x
cot? xcos® x
I Cancel common factors
COS™ X
cot® x Use cot® x + 1 = csc? x
csclx -1 [
2 cot? x
16) cot” x =cos* x B 5 Decompose into sine and cosine
csc? x + sec? x csc? x + sec? x
2
COS X
sin x Simolif
impli
2 2 Py
1 1
- +
Sin x COS X
COS4 X

5 5 Use sin” x + cos® x = 1
CoS" X+ S x

COS4 X |

-



17)

18) cos? x(l + cot? x) =

19)

cot® x

S = 1 + cot® x
COS™ X
2
cot” x coS X
e Use cot x = —
cos? x sin x
0052 X

2

cos? xsin’ x

1

sin’ x
csc? x

1+ cot® x

1+ cot® x

Cancel common factors

Use csc x =

sin x

Use cot? x + 1 = csc

CSC X

sec xtan x

cot x

S€C X

sin x

2

X

cos? x(l + cot? x)
cos” xcsc? x

0082 XCSC X

sin x

CSC XCOS X

tan x

CSC x

sec xtan x

1+ cot’ x

S€C X

C502 X

SE€C X

1

sin® xsec x

COS X

sin” x

cot x

sin x

Use cot’> x + 1 = csc? x

Use csc x = —
sin x

sin x
Use tan x =

coS x
Use sec x =

coS X
| ]

Use cot®> x + 1 = csc? x

Use csc x =

Use sec x =

Use cot x =

sin x

COS X

COS x

sin x



20) cot® xsec’ x = cot® x + 1

cot® xsec? x

2
COS X

sin x

sin? x
csc? x

cot’x + 1

COS X

2

Decompose into sine and cosine

Simplify

Use csc x =

Sin x

Use cot’> x + 1 =csc? x



